Problems on Series expansion

Wednesday, March 17, 2021 12:08 PM

Metmo dg of  E~puniions od  dun chors th Powexsemes

1) U9 Moclauminls se~des

2> USing Stendenwd emparsions

23S Medhod of Fnuexsion <

“> Mepnod of Uexentodion o In#eg\rah*oﬂ oL known Sexve s X
S Method of Subshitumon A

6> Tethod Using Lleibnitz Fheexenn X

Ec-d By Muduuwn'y $erEes e P d log CI+€™) in powers
ol ~ UpPto ~H
S, La>= logare™) ) = joa(2)
Jon= L— ™ {lio>= %5
|+ et n
"
(MD)= -
(1N
\\
_ em &/ (0) - L‘\
(e
A RN
W Hewf.e _oweryet e -¢
J( () = ( A
Y C\+e™S
(vre™)
L
(\\&7( N c\+e”’)}(0"-ze°'"> _ (ét’ e”‘) 314y e
) =

Crre Y

MODULE-2 Page 1



o
(\+e*) Leqt—’zew)“‘ (¥~ e ) .3e™

SEAbY,

() G
Aey=0 Ny

(l

:\/

\ h
Jiod=Vog2, & (0>= )i' + L
VSNY TMacuwn p's  Senies

Fon= Loyt F oy ¢ 2 oyt v«BJH v *\’f“’)

($)

log (\x€) =\ogy + Lo 152 _ ) 1M -

ks 13 92
Sx . PrxoNe dnat, oy secm :%,{MLMH A
“/ PR LS
S0 Let A= \og sec™t (0> = |09 seco = log) =
SeC~>t
o Y =)
— \x9H > =
9, - cedw = \rbanb = \A3T Bl = WX
Y= 29,9, D2(03=29,(0)Y2(0)
— O
o R
Iy = Z£Lﬁz Y, ‘d,ﬂﬂ L9y led= LL J200) *3\L0>‘)3£oﬁ
2
s 2% X 2%\&3 \3{1(°>j‘,/2’
g < )/\qu,‘\j;/ﬁ' ’2.\97,‘13‘—\’),9,3,7 Jsi0d= O

L9991 69,90 + 29,9, 129,95 V> = §06) T8N (1)

MODULE-2 Page 2



X (o)

= (9 € %Yy t29195
3 “ Js(od= 14
Hen(e by ™Mo claundp's  sendes
A= QT “4\3\(03 *”‘? g, (0>F 3:5 (o>T 2 j,_‘lo)
0

o D

e \j o>+ — ng(o)‘f”"

§> 6l
\ Ml ,‘[, \ \" ak "716 ’k - - 7
log Sex = e e
3/17/20213:15 PM
. 2 3
Fw-3 - P\co\le Yhot 109 (1#Sipx)=m> -2 4> ...
2 6
soluhon . fgwb = log C1# %70~ froy=10901y =0
\
Lewy = cosx eoy= 4
\XSinL
‘A - )
/f\\ _ (S ) (Sim) — (I Ceosd _ A '2: -
= o C X' P RSk
L\”TSHW)
i
+<w)— - (OS>
ClFsimry?
) N 1
’F(O) "—OI ’F(O)-_,, (]ﬁ (0): —)‘ fF {0): i

D;?V\ﬂ ')\flac,\aw\({p\j Ler0eg

fy = qc(03+110(0)+ qﬁ o) T . MB f) (o) T

MODULE-2 Page 3



fony= floy+ o flrox + 2”}—,«0 9‘*”'} oy +

2 3]

logy (\Sim) — = <
e - B R R N
At log Qrt¥d>= ~M-Z + 2— o F
: L3 o) T
lo5( 1xsina) = St —Csinm | Gr)T (G0 -
e 3 1
2
,_’543 M‘S MPY3 ’7‘).& .-
s Y 5 2 L Te )

3

(e )

= '), L"ABA”‘J)BjJr_,,

_e= “) e 73
logCisimg= 2 T3 %
- Y
e EoSecn = =4ty 27
ﬂ P¥e +ha o
2 A -
sab o dead= sedt = floy= sec?p = |

_ (floy= ©

—

<(/\M>: 2.2~ tupmt
)A
/P}(W): ZCSGCH’L al 2&8{124 Eanﬂ 4“(03:

2
= 2ceu~w + U secd burss

)
q[\(\o: %Se(%’t ann + gge_flsz (:avsgn - %Sec%c Eap~

)
=16 se~ banw + g sed~bandt f=o

MODULE-2 Page 4



N
& (v>= 64 sec bud + |4 sec®w & 1| sedx Ean I~

T2y el GuRy 2 = 1%
(O

\ ‘ j
jﬁ(o>z\l 460)101 fw(o>:2, ’FMCC)):O/ <€CN)L0):\6

tony= Loy + A oy+ w2 ) R oW vy 0V
— Z_Lio)y+ 2 ™ -
2))(9 0) —i&(o)""—“z% (0D + "~ "~~~

SQCL”C = {‘\"‘M

™Method o4  Stopdwvd Rrpan tion

7SN
Er-5 _ Ewpar\d Ral powens o«a\/)) e
So1” . (et M Srm =1
RN S o 3 y B
€ :eﬂ — I")':j"\'\?‘_. \_d__ _f—\_j_., 4~ 7
21 :) [
J D)
A0 R 3
= \-\'(“’\S\""“ﬂ)‘i’—\—»(w\&iw@ —*—\(%gmﬁg -
>, 2,
:]-f—”'t 71_\43_+'n5 ~F |
29, [ 2]
5) EP NT— = T
° 2) kY ¢
o > J

MODULE-2 Page 5



e L B
- ) o 4+ T
s gy

= | +'>1"’( 4\)¢4L~L+L>_Y

o

A L R A Y

VLo +

i\é E”IPaund log((+~1+\42_h,3) UPH)WS(

501)0.’« logy Ct~rw-h,,z+\,3) = UVJ[CH‘M)CI—I'MZ)‘]

= log i~y £ 10y (1+~2)

We know that loglitnd= =22 210 =Y
2 S 4

lo(‘jﬁl”f'vz,%ﬂ ~3) = [w,_”' 43 :n_‘7 7S b “’_'jd’“_?,
L S S S ¢
T [>2 -7 mé _ m¥
2 K3 /7
- - T3 -
2 2 L S é > <
Fr [ove Fhot A cpreew = |+ ™2 " Y=Y L
6 346
50 M secy = 2 = e
>t =3 M 4%

MODULE-2 Page 6



DIV w_l;( _+~45—~\4r}

(
|
2
1
<
Ny
l
(x
o~
*
(
\
L
O_\i,a
\
_l.q
vl
° 4
L

36 67N’2«O (_/7'0)

= 2 -
Meosel= [+ ¥° ¥ M-

6 3606

\7

S0,

S\how +Hrhat anéer’ld\) :M-j—ﬁ_iml"]‘(_-‘ S
2z 24

SN (8“7_)) = SN L(—i"’l -(’“"l—\'\”j ) j
= Sin( M+ 3 .
C > ! 3]+ --->

P) 0

Rutr Sin® = ©- O3 C LI
S)

1!
')

[N . ~ ~ r ~

MODULE-2 Page 7



2 <2

3

Sn(e7-1Y = (w42 43 +->——L C‘H—ﬁ +5 +--->
2(’) 3(,) 5)0 . 2; 35 *

= 2 3 _
(Pyl-l.:’,\ _\-M ‘rwy‘f'“) (7( “(%7( ‘\':SW_L—')‘)’
L‘

(1

%*” *43< >»<‘4'1C R
5 6 67“’

,mfﬁ_éﬂ\q*””_

et= |44 whext yo x> w3 4y
>l 3) w)
bd
e I+
Now € = :e.(fj
PN
—QLHafﬁ I
25 ZL L,"l)
, e¥X
€ =& )4 /(2 3y \ 42 M3 v -
21 ) — _— R + — F ...
o o J 3() ("Z)

in(e) " 2 2y
~L
_Eli-" GQ = 6[1‘#’4—%“427‘ 5'n3+—g5”>r'7—+~ J
?/Oi) we \enow et = l%“’t‘f”’ll,}ﬁ%ﬁ_&,_-..
7.1) 12) L‘L

MODULE-2 Page 8



[
)
—/
1
X
-+
o

\Y}
—~
[

1
Sy
N~

1

<

w

BN

w

~

R~
—+
<
<

F\

= €\ \xAxwE 5,3 —\féq\"“\’“"]

3 %
pcoNe Fralt 14t = \’P%Z"%j 7‘616’\7“

9% ler 9= Q4>

099y = >t o914~

_ A 3 Yy .
M| DD 4T A
2 S |

\09Y z 3 1 7
Z
J=-e
= \tz1zs 420 2"
7) 37 1,,7 o

L
— 1+L’2 _”f—r——»«”& }‘f £2M3+‘]

r

MODULE-2 Page 9



MODULE-2 Page 10



